’m (8) IIRCES = 5 3 (

O (+8)—(+3)+(-2)E, O (+8)—(+3)+(-2)lF,
BEl1 BELEICRBLT, BE2 hoZ&EIEILT,

(+8)+(=3)+(-2)=+3 8-3-2=3

O BEL2 EEBDFETHELTELN. O
~ HIFL T, #MDLETP>TH !

BiE1-2 EE55H0DHEETHELULRSL,
1| (+5)-(+4) 2| (-1)-(-6)
3 (+2)+(-9) 41 (-4)+(+7)
5| (—1)+(-3) 6| (-9)+(+8)
7| (+6)—(+5) 8| (-2)-(-2)
9| (+13)+(-5) 10| (+20)-(+50)
11| (-17)-(-27) 12| (-12)+(-23)
13| (=4)—(+3)+(-1) 14 (+8)+(+2)—(+5)
15[ (+1)—(+6)—(-2) 16 (=5)+(-7)—(-3)
17| (=3)+(+8)+(-5) 18| (+6)-0+(-9)
19| (=5)=(=5)—(+2)+(-1) 20| (+8)+(—4)—(—6)+(+3)

[bvTCED] [BIR=2CRED] RR=Z(TED]  [BDR=Z(TED]
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